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Q 1 : Add the given numbers: 4 marks
(i) 186577 and 513198

(ii) 700834 and 299565

Q: 2 Choose the right answer: 4 marks

(i) When we subtract zero from any number, the answer is:
(a)0

(b) 100

(c) Number itself

(ii) The predecessor of 6580 is:

(a) 6579

(b) 6581

(c) 6580

(iii) What is 10 tens less than 26507
(a) 2550

(b) 2600

(c) 2750




(iv) What is 1000 less than 8792?
(a) 9792

(b) 7792

(c) 8892

(v) 2984 - (1000+700+80+4) =
(a) 1000

(b) 1100

(c) 1200

(vi) The difference between largest 4-digit number and smallest 3-digit
number is:

(a) 9999

(b) 9899

(c) 8999

(vii) The predecessor of smallest 4-digit number is:
(a) 10000

(b) 1000

(c) 999

(viii) Write next two numbers in the series:
(a) 3394, 3393, 3392, .............. y sesesesasesens
(b) 6287, 6277, 6267, .............. y seceserencnses

Q :3 Choose the right answer: 3 marks
a. 3468 + 7856 is same as:

(i) 3468

(ii) 7856 + 3468

(iii) 7856




b.i) Write a Hindu Arabic numeral for XXXIV

(&) 26 (B) 24

(C) 28 (D) 27

b.ii) Write the Roman Numeral for 35 :
(&) XXXV (B) XXX1V

(C) XXXII (D) XXXV1

c. What is 13 hundreds more than 52677
(i) 7000

(ii) 6567

(iii) 6267

d. 3988 +4122 =

(i) 7000

(ii) 8110

(iii) 9000

e.The sum of smallest 4 digit number and largest 3 digit number is
(i) 9999

(ii) 1000

(iii) 1999

f. The successor of largest 4 digit number is

(i) 10000

(ii) 1000

(iii) 999

g. Write the next two numbers in the series: 3 marks

() 2600, 3600, 4600,

(ii) 2450, 2500, 2550,




: Estimate the given sums by rounding off the given numbers. 4 marks

QUES ROUNDED ESTMATED SUMS | EXACT SUM
NO.S

5739 + 1852 | NEAREST
10’S

7345 + 2792 | NEAREST
1000°’S

Q 4: Subtract: 4 marks
(i) 1865 from 15987

Ans:

(ii) 8910 from 9508




Q5 In a Marathon, Ron covered 3562 m and Shane is ahead of him by 628 m.
How much distance has Shane covered? 2 marks

Q6 : Find the missing numbers in the following (Addition ) : 2 marks

Q: 7: A: The difference between largest 4-digit number and smallest 3-digit
number is: 4 marks




B. There were 50,000 mango trees in a garden. Out of them 35,432 are cut
down. How many mango trees are there in the garden now ? 2 marks

Q 8: Find the number which is: 4 marks

(i) 745 less than 34552

(i) 6547 less than 46455




Q 9: Estimate the difference by rounding off the given numbers: 4 marks

ROUNDED ESTIMATED EXACT
NO.S DIFFERENCE DIFFERENCE

5739 - 3852 Nearest
100’S

27345 - 24581 | Nearest
1000’S




